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For each question from 1 to 30, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the Optical Answer
Sheet (QAS). - - -

1. Shannon described “X” as follows:
+ It has mass.
= It has a definite volume. - -
= {t does not have a definite shape. -

Which one of the following could “X” be?

{1) Book

(2) Rainbow

(3) Apple juice

{4) Carbon dioxide

2. Matter has mass and it occupies space.
Which one of the following is grouped wronqgly?
E Matter Non - matter
RUORE Water ' Heat
2) Sound Lightning
{3) Chair Shadow
2 (4) Oxygen Electricity




3. Annie wants to find out the volume of Object X. She makes use of a displacement can
which can help to measure the volume of an irregular object. She sets up the
apparatus as shown below. When she lowers Object X inlo the displacement can,
some waler flows into the measuring cylinder.

Object X -
Displacement ———— -

can _~ wafter

measuring
cylinder

What can you conclude from the above experiment? B

(1) The water collected in the measuring cylinder is the same as the volume of water in
the displacement can.

(2) The water collected in the measuring cylinder is more than the volume of water in
the displacement can.

(3) The water collected in the measuring cylinder is the same as the volume of Object X.

(4) The water collected in the measuring cylinder is less than the volume of Object X.

4, The table below shows the characteristics of A, B, CandD.
‘Which one is most likely to be a non-living thing?

~

Can move
Needs water | from one place | Can reproduce Has legs
v to another
(1} A v v
@ B v v v
(3) C J y v
(4) D v




The venn diagram below shows some properties of matter.

as definife volume

Has mag

Which state of matier does X, Y and Z represent?

X - Y Z
(M Gas Liquid - - Solid
(2) Sofid Liquid Gas ’ -
(3) Liquid Gas Solid
{4) Gas Solid Ligquid

A water bottle is light and will not break easily. We can also see through it.
Which one of the following materials is the water boftle made of?

{1} Clay

(2) Glass

(3) Plastic
(4) Rubber

Susan made the following observations about her pet dog.
Which one of the following observations does not tell you that her pet dog is a fiving -
¢ thing?

(1) it has a tail.

(2) It feeds on dog food.

(3) It gives birth to its young alive.
(4) It barks whenever Susan calls.



.

The diagram below classifies animals according to one of their common
characteristics.

= r Ani}nals ]

_ [ i
Platypus Whale
Tortoise Guppy
Butterfiy. Kangaroo
Angel fish Elephant

Which one of the following shows the characteristic that the above animals are
grouped in?

(1) By the way they move. -
(2) By the place they live in.

(3) By the way they reproduce.

(4) By the outer covering they have.

Ken found two organisms in his garden as shown below.

3

Bracket Fungus Bird's Nest Fern
Which of the following statement(s) isfare true?

A: Both can make their own food.
B: Both reproduce from spores.
C: Both do not need water to survive.

(1) A only

(2) B only

(3) Band C only
4 A BandC




10.  May Ling was taking two of her piggy banks X and Y from the cupboard. She
accidentally dropped both of them. Piggy bank X broke into pieces but piggy bank Y
did not.
Which one of the following shows the materials that piggy banks X and Y are made of?

X Y
(Y] Glass Ceramic
(2) Plastic - Glass )
(3) Metal Ceramic =
{4) Ceramic Plastic

11, Some fruits are classified according to the number of seeds they have in the table
below.

One seed A few seeds Many seeds
Cherry Lime Chilli
Avocado Orange .Papaya
. P Q R

Which one of the following fruits correctly represents P, G and R?—

N P Q R
(1) Mango Tomato Pear
{(2) Lemon Apple lLongan
(3) Cucumber Lychee Watermelon
4) Rambutan Grape Dragon Fruit

12 Muthu and Sally were chatting. Suddenly, Muthu burped. Sally said, “Yucks! You ate
_durians just now.”
- :Which sense organ did Sally use when she made this observation?

(1) Ears

- {2) Nose
{3) Eyes
(4) Tongue



13. The human body system shown below allows movement, supports the body and
protects some of the organs in the body.

Which one of the following systems is shown above?

(17 Skeletal =
(2) Muscular

(3) Digestive

(4) Circulatory

14.  Plants exchange gases with the surroundings during both day and nfght. Arrows A and
B in the diagram below shows the exchange of gases at night.

il C

\ A

Which one of the following shows the correct gases exchange at A and B?

A B
1) Carbon dioxide Oxygen
2) Nitrogen Carbon dioxide
(3) Oxygen Carbon dioxide
4) Oxygen Nitrogen




15, The two diagrams below two different types of joints.

Which other parts of the body can Joint A and Joint B be_found?

Joint A _ Joint B
(1) 2 Toe Finger
(2)- Hip - Eibow
3) Finger Hip
(4) Elbow Toe ]

16  Three magnets A, B and C are.suspended by 3 strings as shown below.

Magnet A Magnet B. Magnet C

~ Which one of the foliowing tepresents the poles X, Y and Z?

X Y Z
=(1) [:North~seeking South-seeking North-seeking
{2) | North-seeking North-seeking | North-seeking
(3) | _South-seeking South-seeking North-seeking
(4) South-seeking North-seeking North-seeking




17. Some animals go through the life cycle as shown below.

Egg

_L Aduit I Larva }
S/

Pupa 11—.#’/

Which of the following animals go through the same life cycle?

A: Frog
B: Butterfly
C: Housefly
D: Grasshopper:
(1) A and Bonly
(2) A and D only
(3} B and C oniy,
(4) C and D only

18.  The life cycles of some animals are similar while others are d ifferent.
Whalt is the similarity between the life cycle of a dog and a cockroach?

(1) Both lay eggs.

(2) Both give birth to their young alive.

(3) Both go through three stages of life cycle.
(4) Both have life cycles of the same duration.

19. A chick gets its nutrients from the egg before it hatches.
Which part of the egg does the chick gets its nutrients from?

(1) Embryo

(2) Egg yolk

(3) Egg shel

(4) Egg white - N




20.  Aisha, Benny and Kathy made the following statements about an animal,

Aisha : It lays eggs in water.
Benny: It has four stages in its life cycle.
Kathy : It has six legs.

Which one of the following animats are they referring to?

(1) Frog

(2) Parrot  _
(3) Housefly™ ~
‘(4) Mosquito

21.  Thediagram below shows the young of a grasshopper and an adult grasshopper.

Which one of the following statements is incorrect about these 2 organisms?

(1) Both have wings.,

(2) Both have feelers.

(3) Both have three body parts.

{4) The young resembles the adult,

22.  John left an open packet of green beans near a window.
% Which one of the following is the reason that the green beans do not germinate?

(1) They do not have air.

. {2) They do not have water

". (3) They do not have warmth.
(4) They do not have sunlight.



23.

- 24.

25.

The diagram below shows a seedling.
What ts the function of the part marked X?

X

(1) It protects the seedling.

{2) It provides food for the seedling.

(3) It heips the seeding to make food.
{4} It helps the seedling to absorb water.

There are different stages of growth in the life cycle of a plant.
Which ane of the following shows the correct growth stages of a plant?

(1) Seed > Shoot > Root > Leaves > Fruit = Flower
(2) Seed > Leaves - Root > Shoot > Flower = Fruit
{3) Seed - Fiower - Fruit > Root -> Shoot > Leaves
(4) Seed 2 Root 2 Shogt > Leaves > Flower - Fruit

Spoon, water and air are all matter.

- Which of the following characteristics are correct about ali these three matters?

A: They have mass.

B: They take up space.

C: They have definite volume.

D: They do not have definite shape.

(1) A and B only
(2) B and C only
(3} A, C and D only
{4) B, C and D only




26.  The diagram below shows the life cycle of a fomato plant.

/.F Seed \

j Adult plant l Young plant

Which of the following will have the same life cycle as the tomato plant?

A” Morning Glory
B: Peanut

C: Toadstool

D: Staghorn Fern

(1YA&Bonly

(2) A & C only

(3) B & D only

(4) C & D only -

27.  Four similar seeds are grown under different conditions as shown below.

Conditions
 Seed A T Water ] o
P N X ' Near the window
Q v v inside the refrigerator
R v v Under a study lamp
S X v Inside the cupboard

Which seed will grow into a seedling?

¢ ()P
@Q
(3R
4) s



29.

(1) _ Soft ) Hard
- (2) Heavy ' Light
*(3) Not flexible Flexible

(1) It takes up space.

(2) It can be compressed.

(3) It does not have definite volume.
{4) It takes the shape of the container.

Grace classified the four balls made of different materials into two groups as shown
below.

Cork Styrofoam Glass

—_

Cork

Styrofoam Glass

What characteristics did she use to classify them?

Group 1 ' Group 2

(4) | Does not break easily Breaks easily -




30.

Henry totally immersed a beaker with some cotion wool into a basin of water as shown
below. When he withdrew the beaker from the basin of water, he realised that the
cotion woaol did not get wet.

- cofton wool

beaker

What is the likely reason for this?

(1} Water can be compressed.

(2) Air in the beaker takes up space.

(3) Air does not have a definile shape.

{4) The beaker cannot fake in so much water.

END OF PART 1
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Write your answers to questions 31 to 40 in this script.

31.

Ben sels up an experiment as shown in the diagram below.
The capacity of the beaker is 6§00 cm’. The beaker contains 50 cm® of water and

550 cm”® of air. When Ben pushes the piston in completely, 50 cm® of air is pumped into
the beaker. 3 -

Pump

Piston

(a) What is the volume of air and water in the beaker after he pumped in 50 cm® of air?

2]

() Volume of air =

(1)) Volume of water =

(b} What does the above experiment tells you about the property of air and water?

2]

14 ' - i4




32. Sludy he flowchart below. Fill in the blanks wilh the words given in the box. {31

E Hgfey Nifgfgen ﬁé}&‘i’é'_ _]

— ]

I Has definite volumea Does mI have definite
volurme

Has definite shape Does not have definite

shape
o

33, Match the following descriptions to the correct charactenistics of living things.  [4]

=

Does nal have definite

shape

- . .
(b) |

—
e

(c)

A man taking a stroll in the . « Living things can respond
park. ta their surmoundings.
A Irog laying eggs inthe pond. - » Living things can grow,
A larva becomes a mosquito.  » = Living things can move by
themselves.
A torloise hiding in iis shell P = Living things can

%



37.

Alimad want to the Bolanical Gardens and found some waler planls. He classified

therm as shown below,

e S—

i e e

- = = e N Water Plants

X T Y

T Elodea | Duckweed
Hydrilla Water Hyacinth

 Amowhead

Wate r-l'];

-
e i T g s 5 e

Give a suilable heading for X, ¥ and £

{a) X :

b)Y :_

{c) 2. =

13

Xiaoming wants {0 find out the whether these 4 sheats of malerals K, L, M and N are
waterproof. These 4 sheets of malernials are of similar sires and their masses are taken
before the experiment. Then, they are immersed inlo 4 beakers containing equal -
amount of water. After 15 minutes, each sheet is weighed again. Their masses are

recorded in the table shown below.
Material Mass at tho beginning (g) | Mass after 15 minutes {g)
K g 17 ]
L 10 12
M e 12 T 12 )
N 14 16 ]

(&) Which malenal absorbs the meost amount of waler?

-
Ey
-y

(1]

—

(b) From the table above, which material is most suilable for making a raincoat? [1]

&

——

.!c:} Explain your answer in (b).

121

18




35.

The diagram below shows a hunter firing a shot at the birds. However, he misses the
birds.

. “(a) What do you think the birds will do? : _ [1]

-";;_(b) State one characteristic of living things that explains your answer in (8)? (1]




34.

The diagram below shows 3 groups of objects.

(a) How are the objects in the pictures above grouped?

(b} Show one other way in which all the objects can be regrouped. Write the
alphabets A, B, C, D,E,F,G H,J, K, L and M into three groups X, Y and Z below.

[2]

Group Y ) Group Z

r ) Group X

{¢) What characteristics did you use to classify the objects in{b)? [1]

5

16




38.  An Object X is suspended in the

middie of Magnet A and Magnet B. .
Both ends of Object X attract the

magnets A and B as shown below.

Object X )

Magnet A Magnet B

(a) Give an exampie of a material that Object X can possibly be made of. [

{(b) What will happen if object X is a magnet? 2]

39.  The diagram below shows 2 tadpole and a frog.

Tadpole

Frog

(é) State two differences between the tadpole and the fro
above. (Do not compare size and shape)

@

g based on the diagram

21

'. | (i)

(b} Name two other Ahimals with the same number of stages of life-cycle as the ffog.

21

, :7’.
19




40.

41,

The table below shows the journey of the food through the digestive system.

Complete the flowchart below with suitable words. [3]
Food o (1) Food is grinded and chewed here,
!Tii) J Passage way for food to pass through
- ’ (i) J Food is mixed with digestive juices here.
(iv) l Digested food is absorbed by the blood
- - vessels here.

(v) Mosl of the water is removed here.
(vi) - Undigested food is passed out of the
body through this opening

Jane showed Tom a beaker of half-filled with sand and said, “Sand is a liquid because
it takes the shape of its container.” However, Tom disagreed, “No, that’s not true. Sand
is not a liquid.”

(a) Is Jane or Tom right? | [1]

(b) Explain your answer in (a). | [2]

20




42.  Tian Wei and Cindy set up an experiment as shown below. They observed ‘the plants
daily.

roots
bottle sealed
: wrapped
N N with plasticine ° ina
;::’; . - plastic
Y XS _—* wafer bag

Flask A ) ) Flask B -

(a) What wilt Tian Wei and Cindy observe about the water level in both flasks A and B
after 1 week? 2]

(b} What does the above experiment ghow? _ [11
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"{36)a))(: Totally sﬁ;mefged
b) Y: Floating. %
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37)a)Material K.
b)Material M:
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